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[ia 51,628
FAAE K& 686,520 2,014,000 A 1,327,480
= 220,000
e 466,520
ZAAE 2EX A 182,200 149,700 32,500
201 Lt 108,400 75,900 32,500
02 22| 108,400 75,900 32,500
Ostdd & =< A28 =4l 20,000
OsdE ¥ =9 &HIIL2  700,000& 128 8,400
oz A =2 RFU 80,000
301 et A=z 4,000 4,000 0
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2M: F =
Ha: Y2 YA
Chel: D= FH(FUMEY) (sl &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OgBt+=&H| 19,763
O= &l 3,830
02 =224l 2,308 2,308 0
o03E2= & HA 500
OsE=s ¥ 2503 2,000 500
O A& ZHI S X 1,808
04 bl 63,600 60,420 3,180
202 044l 63,600 60,420 3,180
01 SLHOIYI 63,600 60,420 3,180
ZOIME D =240
200,000& x20H «12& 48,000
OF0IME AREX 0ofHl(22)
65,0003 *20H <12 15,600
Hees(=Mean) 460,303 409,220 51,083
HWEHAXS (L ME) 460,303 409,220 51,083
odz=20 Az S *E3Z 460,303 409,220 51,083
701 JIEtSl HE &= 460,303 409,220 51,083
01 JIEtel HE &= 460,303 409,220 51,083
Od==0SEIHEES 460,303
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